2x+y  x—-2

R L
1 5 7 2
2 15 - - —x—-Z
@ 2x + 15y ) gx—l—{ly ©) R
@x+4y @ Zx—ay

~&B

2x + x—2 2(2x + 3(x—2
3y+ 2y:( I )

6 6
dx+2 3x—-6

_ 4x—?—2y+3x—66y




2. A (3x-2y-1)-(x-3y-4) 2 7tHs] 5A?

@ 2x-3y-5 @ 2x-2y-5 @ 2x-2y+4
(@)2x+y+3 ® 2x+2y+3




@ 2 -
x+5y—3 @ 3x2+1-3x2

@ 3y?
v+ 2 ® —2x3 +x?

@—%xQ +3

@1
® -1 431 xol B
5% +3 1 xof T3t o]xpA]

@ 3y? +2 : yol &3t
® —2x% 4+ x2 © xof 3t AF2pA]




4. A (x*-2x+6) + (2x? - 3x + 4) & 7FHo] 5FH?

>~

D 2 -3x+10 @ 2x2-x+10 ® 3x2-5x+6

(@)3x2‘5x+10 ® 3x*+5x+10

(x? = 2x+6) + (2x2 = 3x + 4)
=x2-2x+6+2x2-3x+4
=3x%-5x+10




5. A (Ta? - 5x+6) - (35 - 20+ 4) & 18] 52

@4x2—3x+2 @ 4x2-3x+10 @ 4x2-7x-2

@ 4x2-Tx+2 ® 4x>-7x+10

(7x2 = 5x + 6) — (3x% — 2x + 4)
=7x>-5x+6-3x2+2x—-4
=4x2 - 3x+2




3
02—10

1
2

@

1

4

1

4

ax(=3) =

ax22a-+




7. 2x(*+3x-1)=a*+bx>+cx8 W, a+b+c @427 (H, a,

b,ce=’dF)

—2x(x% +3x—1) = —2x> — 6x2 + 2x
a=-2,b=-6, c=2
na+b+c=(-2)+(-6)+2=-6




5 w2 ay) ~5x(x—y) B 0 o2

@—W — Xy @ -2x* —1lxy ® 8x% 4 1lxy

@ 8x% —xy ® x2+axy

3
§x(2x —4y) = 5x(x —y) = 3x2 — 6xy — 5x% + 5xy = —2x% — xy







10.  (12xy? + 8xy) = (—2xy) & ZFH5| o}H?

@—6y—4 @ -6x-4 ® 6x-4
@ —6y+4 ® —6x+4

(12xy? + 8xy) =+ (—2xy)
12xy?
A,

_ 8xy
T 2xy | —2xy

= —6y—4




11. 4 (8x—dy—3) - (x—2y-3) = 23] 5FH?

@ 2x-3y+6 @2x—2y ® 2x-2y+6

@ 2x-2y-6 ® 2x -6y

(Bx—4y-3) - (x—2y-3)
=3x—-4y-3—-x+2y+3=2x-2y




12.

A (4a+b-1)-(-a+3b-4) 5 7F

® 3a+4b-5 @ 3a+2b-3

@ 5a+2b+3 @5a—2b+3

® 5a-2b-3

(da+b-1)—(-a+3b-4)
=4da+b-1+a-3b+4
=ba—-2b+3




=Ax+B Y U, A-B 9 Ze?

2x—-5 x-=T7
4

1 1
o @; ® 4 @ 5 ® 6

2x—5_x—7_8x—20—3x+21_5x—|—1 5 1
3 4 12 12 12 12




14. of@ oFgha] Aol A —2x 4 3y — 18 Tlatl iy 5x - 2y + 3] =tk
oA A=

@D 5x—2y+4 @ 5x+3y-1 ® 5x—5y+4

@ Tx+3y+5 @7x—5y+4

A+ (-2x+3y—-1)=5x-2y+30|B&

A= (5x-2y+3)—(-2x+3y—-1)
=5x—2y+3+2x—3y+1
=Tx—-5y+4




15. A (3x* +x-2) + (=5x% = Tx + 1) ZFehs] Sha?

@—2x2—6x—1 @ -2x2+6x+1 @ —2x2-5x-1

@ 8x2—-4x-1 ® 8x2+4x+1

(Bx2+x—2)+ (-5x? - Tx+ 1)
=32 +x-2-5x2-Tx+1
=-2x2-6x-1




16. == a,b o W5t 3x—5y— {y-2(2x +3y)} =ax+by d W, a+b
o gre atelet.

>

> Het: 7

B ‘

3x -5y — {y-2(2x + 3y)}
=3x-5y— (y— 4x - 6y)
= 3x — 5y — (—4x — 5y)
=3x—-5y+4x+ 5y

= 3x+ 4x - 5y + by

=B +4)x+ (-5+5)y
=Tx

O|EZ =17, b=0°Jtt
L a+b=T+0=7




17. 9a AL & &A1 82 A2?

® —(2a-b)=-2a+b

@ —2y(x + 3y) = —6y% — 2xy

® 2y(5y - 3) = 10y - 6y
@—2x(3x —4y) + y(x + 5y) = —6x2 + 10xy + 5y°

® —2x(4x—3y) —y(x—3y+1) = —-8x% + 5xy + 3y? —y

@ —2x(3x — 4y) + y(x + 5y) = —6x2 + 9xy + 5y?




18.

g(12x+24)—%(36—12x) — Ax +Bx 2t g o, A -B 9] ghe?

@ 1 @2 ® 3

@ 4

® 5

~&B

(F£4]) = 2x% + 4x - (3x — x?)
= Sy e o= B A B

A=3, B=1
LA-B=2




3 o
19.  (-6x%y + 12xy - 18y?) + 7 £ 7Fh33] sHH?

27

© —9x%y? + 9xy% = Ty @ -8x%2 + 16xy° — 24
3 27

® _5)‘2 +9x — 57 @—8x2+16x—24y

3 27
® —§)c2y2 + 9xy — ?y2

B

3
(—6x%y + 12xy — 18)?) + ol
2 2 4
= (=6x%y + 12xy — 18y%) x —
3y
4 4 4
= (—=6x%y) X — 4+ 12xy X — — 18y® x —
(—6x7y) 3y+ Xy 3y Y 3
= —8x% + 16x — 24y




® 9x + 6y @ 9x + 6y?
@—9)6 + 6y @ —9x3y? + 6x2y?




-8x2y +4xy2  6xy% 4+ 9x%y
—2xy 3xy

21.

=ax+by ™, a+b 9 3H2?

@3 @2 0-1  @o ® 1

4x—2y—(2y+3x) = x—4y °|BZ a+ b = -3 O|T}.




X

3(6—3x)—g(ﬁx—8)—3x:Ax2+Bx =} 8 uf, 24 + 3B 9] ZHS
stofe.

22,

> =

> ®™eH: 1

B *
(F4]) =2x - x% - (3x% — 4x) — 3x
= —4x? 4+ 3x = Ax®> + Bx
A=-4, B=3
© 2A43B=2x(-4)+3x3=1




2(12x+24) - 1—)‘2(36—12x) = Ax® + Bx 2 S U, A - B 9] 3127

o1 @ ® 3 @ 4 ® 5

B

(F=4]) =2x% +4x - (3x— x?)
=3x* + x = Ax*> + Bx

A=3, B=1

L A-B=2




(24]) = 3x% - 3xy — 2x% + 4xy = x> + xy
opebA x2 319 A4 1 ot




25.

b Al 2hes] sofet.

(12a%b — 18a3b?) + 6ab — 2a(6ab — 4a)

@O —15ab + 10a @ -15a%b + 10a
® -15ab + 10a? @ -15ab? + 1042
@—15a2b + 10a?

(12a3b — 18a3b?)+6ab — 2a(6ab — 4a)
= 2a® — 3a®b — 12a%b + 8a?
= —15a2b + 1042




